Psychology 610 Optional Handout #1, p. 1
Prof. Moore

Optional Handout #1
Fall 1995, Alias, “The class that asked for algebra”

Problem: Show that these two expressions for SS, are equivalent:

(1) S8, = [4]-[7] @) 5, =n3 ¥4 -T,)
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Start with (2), SS, =nY, ¥, -Y)
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Now we recognize [Al].
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Notice that T is a constant. When we sum over T, we get a t, or we can put,T in front of the sum sign.
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Now we recognize that Y A; =T.
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Now we recognize [T]=—.
an

= [4]-[T]
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S84 = E [E(Yu _Y_A,.)Z]
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Square out inside sum: = E [E v, - 2Y, Y, + Y_A%}]
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groups

Distribute inside sum sign:

= SIS -27, 3%, + 3]
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Distribute outside sum sign:
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Replace Y Y Y’ with [Y]; Replace ¥, with —*:
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Replace EYiJ with 4; replace E(—’) with (n)(A—’z):
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groups n groups
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=[Y]- E (A—fZ) Replace E (Aj‘) with  [A4]:

groups n groups

8854 =[Y]-[4].
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